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HW 4.2 Changing the Period of Sine and Cosine Functions

R 1. Indicate the transformations for each of the following equations:

a)y =cosf - y =—-4cos3f
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= 2. Indicate the perlod for each of the foIIowm7functxons T — N
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3. Graph the function on the graph provided.
function: y = 3sin(260)+1

Set and label the increments to have at least two cycle of the
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4. Graph the function on the g;éuph provf&éd.
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function: y = —-3cos (-:] ~1

Set and label the increments to have at least two cycle of the

i) Label the maximum and minimum points
on the graph (provide coordinates)

ii) What is the period of the function?
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5. Graph the function on the graph providVed'.'

‘Set and label the increments to have at least two cycle of the
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i) What is the period of the function?
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6. Given the equation 0.5 = acos bl + d , how many solutions will there be for 0° < @ <360° in terms of “a”,
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7. Given the equation sin 30 = &, for what values of “k” wuH there be only three solutions 0° < @ < 360°
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8. Given the equation sin 30 = k , for what range in values for “k” will there be only six solutions
0° <8 < 360°
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9. Which two of the functions below are the same function?

Ny=3sin2(0+%) ii)y=3cos20 iii)y = 3cos2(0 + %) iv)y =3sin2(0+r)
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10. Which two of the functions below are the same function?
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11. Evaluate COSXY  jf cosSx =1
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